Name: _____________________                                         Date: __________________

[bookmark: _GoBack]The Left to Right Strategy

Subtract from left to right.  That means subtracting your tens first, then your ones, then adding your answers together.
Here’s an example:
45 - 32 = 13
Subtract my tens: 40 - 30 = 10
Subtract my ones: 5 - 2 = 3
Add my answers together: 10 + 3 = 13


48 - 42 = ________                                                    99 - 20 = ________



253 - 42 = ________                                                 353 – 12 = _________



396 - 134 = ________                                                  598 - 422 = ________



859 - 342 = ________                                                 667 – 312 = _________
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